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Part 2

(10 %) 1. Milton Friedman is the noble prize laureate in 1976. He argues that the stabilization policies
would not work and the active monetary policy would worsen business cycle. In other words, an economy

functions best when without any government intervention.

Based on the above statement, please indicate whether Friedman is best known for supporting or against

Keynesian view.

(25 %) 2. Suppose the labor market of an economy is characterized by the labor supply and demand curve

as follows: I =3-2 andI® =% . In addition, we know that a typical firm in this economy pays a real
p p

w . . .
wage of — and faces the per-worker turnover cost (c). The expression describes the turn over cost is as
P

follows:
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(15 %) 2.1. Based on the efficiency wage theory, please compute the equilibrium efficiency wage.

(10%) 2.2. All the other things being equal, if the prevailing wage equals the equilibrium efficiency
wage and the government decides to adjust its minimum real wage from 1 to 1.5, what happen to
the unemployment rate in the economy after the adjustment? (Hint: Please indicate whether it

becomes higher, lower or remains the same.) Please explain.

(15 %) 3. One common feature of the Japanese slump of the 1990s and the Great Depression of the 1930s is
a fall in economic activity coincides with interest rate close to zero. (With a maximum of 100 words each).

(5%) 3.1. Some economists describe the situation as liquidity trap. Based on the IS-LM model, please
explain why eXpansionary monetary policy may not work to stimulate investment spending under
this situation.

(5%) 3.2. However, other economists suggest that expansionary monetary policy may work to stimulate
investment spending. Based on the closed economy model, please indicate the circumstance under
which it may work..

(5%) 3.3. Now think about the open-economy version of the model. For a small open economy under
floating exchange rate regime, what is the additional channel that the expansionary monetary policy

may influence income?






